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Weather
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Comprehension Checkup 1.F 2.T

Vocabulary Focus 1.c 2.a 3.d 4.b
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1.a 2.b 3.c 4.c

1.happens 2.cloudy 3.warms 4.air

Grammar Focus

Summary

| Reading Focus | 13p.
= 2017127

= T A

EME 5k o o =77t AUR?
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| Vocabulary | 13p.
- weather /M|

+ sunny [&3idlo]| 42
- cloudy &+E0| 7I
rainy EH|7} Li2l=

+ snowy EE 2=
dry (& 74i=st
temperature @ 7|2, 2=

measure [ SH35|C}

instrument @ =3

| 22 xI= | 14p.

- Instruments to measure weather

1.be 2.includes 3.warms /changes

affected / temperature / weather / measured / future

LUE Fole 7
- thermometer 27| - barometer 7 ||

- anemometer 3£7| - snow gauge Az

| 28 e 2 a1 |
Comprehension Checkup
U= 23S TE, ¥X| Y= BUS FE 1242,
1. BiYC=RE 2F ofiXl= Mol Feks 7IXIX|
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2, R2= =7E MESIH EME S8 = UsLICH
[T]
71 L2 EE 12MQ
1. 222 2000] st 2ULF? [a]



b. EjYo2RE] 2= 0fHX|
c. SME EHsi= g

2. 7|22 FAYLIF? [b]
a. HIZo| Fott MA| £EX|
b. 377t LOjL} EAH2X|, 22 E0t X7F2X]
c. £0[ HIE W2 sk=X|

3. FAN0| Z7IE wWESHA L [c]
a. 7|1& b. = c. B

4. T2 20| SYE &+ gisUIN [c]
a. Hpzt b. ] c. 1=
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1. M= shs0lA YMet= AQLICE  [happens]
2. 5l=2 6L 33 £ JUBLICE  [cloudy]
3. B2 37|15 W6 ot 7|22 HEtAIZLICE

[warms]
4. HIE2 3715 SAIYUCL [air]

SAte] ey

F0{ + can + SAIEE
3 Bt F0| + [SALEE + -(e)s]

ESM(can) Ci20lE &d SAFEEE SUC J2|u
LELSAIZE 01 SRH AM[Y M 3R B 07 2
o, SAIEY0] -(e)sE 2RILICE

1. t7|= HI7F @LE =0] LH2|AL AXE 4~ US
Lich [be]

2. Q= &, HiE H], 220 =5 ZeEiLch
[includes]
3. HY2 37|15 WX 5t 712S HItAIZLICE

[warms / changes]
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2N/ SgE e /712 /0 ) £8E

Weather is affected by energy from the
sun. The air gets warmed by the sun, which
changes the temperature. Climate tells us what
kinds of weather happen in an area. Weather
can be measured by some instruments. These
measurements are used to figure out what the
weather will be in the future.
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Rain, Snow, and Clouds
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Comprehension Checkup 1.T 2.F 1.c 2.b 3.b 4.c
Vocabulary Focus 1.d 2.c 3.b 4.a
1.air 2.drops 3.form 4.rises
Grammar Focus 1.in 2.from 3.into
Summary clouds / warms / up / turns / falls
| Reading Focus | 19p. + sunlight 243
< =2 oiC|oflM 2LER? * rain or snow H| = &
-« TE2 O{C|oflM oA 2EENXILIR? - water vapor 37|
| Vocabulary | 19p.
- cloud @&
- form [= S|} | 2l e 2 1Y |
- fall & Hoixi)
« shape 2/ 22}
- warm [ s st = EYS TE, WX U= 22 FE 12N,
* vapor & 37| 1. =0l of2f 71X| =¥t 2717k AsLCE [T]
- mass [ 02| 2. $Z7|= & HH| HESL|C [F]
- crystal = Z%x|
* sleet [ Thz7HH| 71 L2 EHE 1EM2
- hail BMELE. £ 1. 222 200] 25t 2 [c]
a. 7E0A =0] O{EH 2=X|
| 28 xI= | 20p. b. Efeso] 0| AL
- How to become clouds #150| &= 2} c. F20i|M 97 CHA| 7120 gh= 1|9 =



2. 752 FAYLIRY [b]
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U 2.

TE2 7| B0l U= S [air]
2, = ofF A2 Y22 THELLCL [drops]
3. £2 KXo Z SNE|= OFF X2 LS TZiol|A
LEZLIC, [form]
4. £&7|= of=& 22Ut [rises]

X|At in, from, into

‘~0| otojel ojn|E LiEH M= in, ‘~ESE= from,
J2|7 '~ HEf2'9l ol0lS LEHE M= intoS ARZ

1. 782 37| 30 U= =Lk [in]
o xto
=]

[from]

3. ¥R 20| #37|= HECh [into]
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ZOIRICH / WRSHA it / it / 8
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Rain and snow come from clouds. Snow has
many different shapes and sizes. The sun
warms the air and water. Water vapor made
by the sun goes up into the sky. It turns back
into drops of water or crystals of ice. Then
it falls back down to the ground as rain and
snow.
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Comprehension Checkup

Vocabulary Focus 1.b 2.a 3.d 4.c

AZYUUCE 60 B2 AES0| B2

Spring and Summer

o= X771 EfY Zo2 7127 20l SHMI7H ISSHELICE T2 B2 &
= AYLCE Si3nt = Z0i| A=0] Xi2ks d| =22 sS4 X2k AE2
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H S 7K =2 AEYLIC OPIIOH
H2l= 71 &8 A0l THE XM= A

HF/e Hol7t ol U

U2 7HY BSUCH L8 X|FoM HS2 HI7t 7t
ol
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1.a 2.b 3.b 4.c

1.rain 2.breeding 3.hottest 4.food

Grammar Focus 1.appear 2.help 3.come

Summary appear / warmer / breed / shortest / wettest

| Reading Focus | 25p.
22 AxMeIR?
- S0l F& Lol M7LtR?

| Vocabulary | 25p.
- season [ AIH

- appear (& LIEFICH
- tilt = 7|2ct

- breeding [ tHA]

« solstice @ X|H

- wet EH7t 2=, £
- fruit (2 o}, of

rlo

| 2% xR | 26p.

- Spring &

- flowers in full bloom &% Tl 2
- breeding tAl

- Summer =

- much rain &2 H|

- fruits 2}

| 2l FE 2 iy |
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2. ™M 2E R0IM, BHE2 7H &8t A=Y
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2. ZFUHEY Bez VIS0IM Qs O, F& 2ol ¥
OfLimF? [b]
a. X577t EHEUC
b. M7t H TSR

c. M7 FAZUCE

3. U2 S20| | HA IS 2L [b]
a. o120
b. 20
c. 720

4. SX[ofl of2A EU7f? [c]

a. @o0| 7+Y 21 S22 7Ky &2 ol Utk
St gol Zo7t EZsLct
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Vocabulary Focus

1. 7ig0lct - b. OfE %2 SX0 229 YUt
Syt bt2 AR Suck
2. WAl a. 520/ AIE 2= 1

3. H2----d. SOt H|Z QI
o
=

4. F0H, BY - c. WS BT U= Aol B2
CHS BiZho| Y2 THo|E TEM2.
oo| / ¥4l / JRSE /
1. S} Hi= S0 AIE0| Xi2te A2 S&LC
[rain]
2, U2 S=S0| S0l HAZ |7 UELICH
[breeding]

3. 622 Y E F IR OR 71|Jg°‘=}|_||:} [hottest]
uy]

F012t SALS| 49| LX|
A and B + A&

T&AL and7t 01 K20 M0f THOfQt HHOfE
Z A 24 F0{7} GUTt 2222 S AlFe| 25
OlM LEESAIZE MU = SAIEES &Lt

of

U2 TS 12N,

. B2 Y0t 20| LELE= AZIQLICE.  [appear]
2. 34y} Hle 20l ASS0| Xi2te ol =22 &U
ct, [help]

3. 752 1|2t =0 LI2= R [come]
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In spring, leaves and flowers appear, the
weather gets warmer, it can rain a lot,
and many animals breed. In summer, we
experience the longest day and the shortest
night at the summer solstice. Summer can be
the wettest season in some places and a dry

season in other places.

=0l= 2t £0| LIEHD, STt O EESHELICE H]
& B0 2 4 /T, B2 S2S0| HARILIC 05 5
6t7<|01Ih 7be 21 Hat 7bE B2 HE ZelsiLich of

2H
E2 o X|FolM= 71 &8t ARY 4~ UXIT, T2
IIE'.OHH‘: Uzet A= & UsHC



Fall and Winter
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Comprehension Checkup 1.F 2.T 1.b 2.a 3.b 4.a

Vocabulary Focus 1.c 2.d 3.a 4.b
1.windier 2.store 3.falls 4.Fewer

Grammar Focus 1.shorter 2.windier 3.coldest

Summary harvested / decrease / lose / store / fewer
| Reading Focus | 31p. | 2l e 2 1Y |

- 710l theRel S20| fUE StR? Comprehension Checkup
= 20|

- 2S00 ASE A 2ojsttR?
U= B2 TE, ¥X| Y= B2 FE 12N L.
| Vocabulary | 31p. 1. 7}22 =&t ALk, [F]
- fall @72 2. 7i20ls, E0E Lol Yut A2 712 uh2of
- harvest (& $2I5iCt UL AlZ0| F7| ELc [T]
- crop 2 &&=
- length @ 20| 71 YS2 B 12N,
 decrease 5 ZA5i} 1. E22 290 23t 2ULP? [b]
- store (& MESICH a. 7|=o| Bz}
- reduce (8 Z0|ct b. 7k23} 7420| OfEX|
- temperature @ 7|2, 2= c. 7t2at 7=0| Zo|

- few @ 79| gi=

2. U2 0IM AZIS0| SIH| S22 RN [a]
| 22 HE | 320, algd  b.ogol  c.2df
- Fall 7l - rich harvest S%}
- fallen leaves 4% - Winter 742 3. 7120| tHEEC| =20| #420|| ChH[sH S0 B
- much snow E2 &= - bare trees YAISHLIE e [b]
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4. 720 o UL A=0| ZHLIN? [a]
a. HUS B3| W] 2317| H2of
b. HIZH0| 27| =20
c. AIZS0| AlZ0f Chsl A1Z MX| 97| 20|

Vocabulary Focus

1. 245810 c. 2o K22 Bor

2. XAt d. HRF GHK| 227K OfEjof
o] =1 BRIt

3. BNZ - a. BRI AEHE L 4 EE U S
o M2

4. 7|2 2% - b. O ZAJ} A0fL} HILt B2
Aoht E2R0] 23t M=

LS HIZHof| Y52 BOIE 12MR.

Higho| of B0| = / BO{TCt / MEstct
/ el g=

1. 71S0l= M7t & FRXI2 ol o Ho| =4

FLct, [windier]
2. 7120l= tiREel 20| /22 thidls HoIE X
I [store]

3. 7i=0l= OFX|2 YARHZE LEROIA EOJELICE
[falls]

4. 720|= A== 72| Motz 4 YiELICh [Fewer]

T HE M= H|wsto] -2t o ~sitrel ojnjg T
= Hlugs ARSI a2\ 7K ~aichats &

2 = ZdEE AERUC

(SBAL/RAL+-er)

short — shorter / cold — colder
(Y2 Bli= FEM/RA=YyEIZ 1
X2 + -er): windy — windier

{the + SZAl/EAL + -est) :
cold — the coldest

1. 7122 207} 0iS1t HSEC #W o BELCH
[shorter]

2. 7120l= EMPE O FX| HiEo| o FLCh
[windier]

3. 722 U W 5 74 52 AL [coldest]

o

EES 29517| ol HIzto| U2
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&Ch/ E0ISC/ Mottt / He| Gls / FE

In fall, many crops are harvested and the
hours of sunlight decrease. The weather gets
colder and windier. Trees lose their leaves, and
animals store food for winter. In winter, the
reduced sunlight and cold temperatures cause
some plants to die, so fewer plants are found.
JHE0il= B2 sA=20| F4E1, Si5l0] HXl= Al
0] E0ISLICL M= BE O XL HigE o ¥
0| 27 EUct LU= 0| X2, SE2 =01l thl
5l HOIS MHSILICE HS0l=, 0= M X2
712 m=o] Y5 AlZ0| ZSLCH 22HM AlZ0] A2
HO|X| 4ELICh
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The Sky Above

| 22 5 | 5k ¢
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Comprehension Checkup 1.F 2.T 1.a 2.c 3.c 4.a

Vocabulary Focus 1.b 2.c 3.d 4.a
1.molecules 2.lights 3.sets 4.size

Grammar Focus 1.because of 2.because 3.because of

Summary molecules / light / warms / own / goes
| Reading Focus | 37p. XI=t 2712 2F 1/4uH
- Bl50| off TR Eo|LtR? - about 109 the size of the earth
. g ooit 27197 X+ 2719| 2F 109HH

| Vocabulary | 37p.

- molecule = £xt

- consist of ~2 FAE|C}
- atom = X}

i

on

| 2 & i |

- scatter (5 EHX|C}

- light (S HIFCH 87| SiCt =Y U= B2 TE, X Y= EEU2 FE 12N

- far 22|, 0}53| 1. XM= = ) ofAte| Bxl2 AEILCH

- set [5/(al, & SO0I) XIct 2. 37|, 28X, 22|11 =2 EiY ofiqx|of 2ol CIHE
« quarter [E429| 1 Lct,

| 38 xt= | 38p. 7P B2 HE 12N,

- size of the sun and the moon E{Q¥at 0| 37| 1. 222 Dojg)| &st 2L

* the sun EfZ a. SHsT 227t Sts0lM 2 4 e A

- the moon & b. EfQm} =t

- about 1/4 the size of the earth c. W X|7
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Sl0] 3t0| TR HOIEZ Bl [c]
. TR IRt

e

o Azt

o T p

3. 22 gott S [c]
a. X|7e} 7ol ze 37|
b. X|7L9| of Mt 57|
c. X|7o| oF 480[1 37|

4. 20| x| S| HIFOIRLII? [a]
a. oI X7 FAE =
b. EfY0| E FPIE =

c. EfY0| X7t F9I1E = U

1. ZOIXICt-- b. Of2f 7}x| Waro= Slofct

2. HIECH 00 31k c. OfF HAo| Y MZsfct

3. Xk d. 350N o K2 Zo= 250! Afzt
xict

4. 2| a. 7R o

CtS RizZiol| 22 TS 12ML.

X|et / HS HIEC / 37] /22X

A 2X12 AL [molecules]
S0l sksxt X|7LE HIELICE [lights]
SO|lA = Fuc [sets]

37|9] 429] 1 F=Lct, [size]

ol
r
[0 rlo
3

> o [
—LJT)N'

m
=33

PN oo
1
I'|0 ro o2

e

because?} because of

because + F0{ + SAl

because of + HA

because= ‘™EAF0|T because ofe HXIAFRIL
Ch. because CI20le F0, AP} Q= HEH) 0]
LI2T because of C20l= "HAF7t LEZLICE & Ct
'~ I20f'2k= 0[RS LIEFHLICE

U2 TS 12N,

1. X0l et of Mgt uhFof k=0l mHEA 2

LICt, [because of]
2, 52 XIF2RE 2| oA 7| 2ol M
o A EQIL|ct, [because]

3. 7i=0l= E0i= Y Eol| Y AS0| Z5LICH
[because of]

EES 2517 sl Hizil| YH2 T E S2t iR
ML,

WSESHA| etk / 2tk / 2A 7 R/ KR

The sky consists of gas molecules. At night
we can see stars, and the moon in the sky.
Stars make light by themselves. The energy
from the sun warms the air, land, and water.
The moon does not make its own light, but is

lit up by the sun as it goes around the earth.

st2 I £X12 T8 ek ol Peks
O It IS B 4 UBLICL B AAZ YS
O, EfQoRRE| ©F OLADE 271, G, J2iT B2
TS B BLICL IS AAR 9E K| RR I

0| X7+ 9IS = EHRS0l| Sl &7 HIFELICL,
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Planets

| 22 31y | Ay

2SI=0llM CHE ESEC0H O 310 ¢ B0F 20l= H2 oo} #HEY AYLICH HH2 HY FUS == 2 SHZ
S UX| dEUCE B0 015 7He| o] ABLICE FAE2 oz AU QUK 2006'H 82 =A|
HEst Agtel7t FYES I o] sy HatsUCh

BHS2 J2|ALt 20t ASQ| 0152 A1 UBLICEL RS2 o4, 24 H2HXR), 3H8, 24, EY, 2y, 1
2|1 sHFYLICt XIF1= = 20 ARl H|2F 2k S|ILCH s~d2 et 7R 714D, shdko] EHollM 7t

Comprehension Checkup

Vocabulary Focus

Grammar Focus

Summary

| Reading Focus | 43p.
Hi2t= FNe7t27?

— T A

AN2A7R7

.

SHAM O
%ﬁ

:_l_

| Vocabulary | 43p.

- planet = &A

- object @ ZX|

- orbit B HTE 12|H SCt
- dwarf (& 0}F R, 439
- instead & 21 CHAlo]

- close & 7Pt2

- farthest ¥ 7}z Ha|

- ball-shaped [& & 29|

14

1.F 2.T

1.b 2.a 3.d 4.c
2.solar 3.Terra 4.0Others

1.b 2.a 3.b 4.b

1. orbits

1. A planet does not make light. 2. My mom does not cook well.
3. The cup does not hold water.

orbits / make / planets / closest / farthest

2 wEwc 3
B———

[b]

[a]



o 2ol FH0| ARRYL7F? [b]

Ol 3HA40| EHQtT} 748t 7PZSLITE? [b]
a. 3td
b. 4
c. EM
Vocabulary Focus

O X2 ASO|---- b, YHPMO| 57|t &M
o 22

JbEhea| - a. 7HE H A2l

B4 28X d. 8 £ UAX[T Aot XK= L2
CHERSH 2|

IS - . @} B RevRRE| BA| 22

2

Chg uzio| 2t

HOIE 12MQ.

I'IO

CE A= / H=E =0 / Hi2t
/ Efe

HE2 ELO| H=E = 2 SHYLICE
[orbits]
EfA0l= OiE 7Hel o] UELICE  [solar]
X w2 20kef A H|ZE 2t S2Lct
[Terra]
O A2 XIFECH O ZSLICH CHE RS2 K|
THECH G FUCL [Others]

LESAH SR AR BEE

3213! ot F0 + does not + SAIEEH
UBESAIZE M1 B AM|Q] 2F0IA 321 B F
=

07t U= FEE2 SAL %0l does nots &LICH

{(does not + SAIHE)O| FEHZ &LICE
CIS 242 BHEOR HIY MM,

-k

. [A planet does not make light.]
Ad2 A= UK S
2. [My mom does not cook well.]
3| ojtiLlE Q2|S & §HK| &Lk
3. [The cup does not hold water.]
7 Zofl 20] S0 UX| $SLICE

tSCt /7t k2 / 7t Eel

Hom
/ H=E =t

rEI

A planet orbits the sun and does not make
light. There are eight planets in the solar
system: Mercury, Venus, Earth, Mars, Jupiter,
Saturn, Uranus and Neptune. Mercury is the
closest to the sun and Neptune is the farthest
from the sun. Planets are ball-shaped.

BN E0| Y2 S0, WS BSKI= RBLIC, Bf
POl ol 7He BHM0| UBLICE 44, 3, T,
ahY, 24, £, HYY, J2D LY, S42S et
I IR0, SHRHS EfRfORIEl Fiat Al Hof

H QlaUTt B2 B B,
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Review Test

| |

Review Vocabulary Test
1.mass/ Z0{2| 2.sunny/3Hl0| 82 3.temperature / 7|2, 2=
4.tilt / 7120|ct
1.molecules 2.drops 3.store 4.orbits

1. |

C o s e
= G I o u d
3. d w a r f
4. | n S t r u m e n t
5- s e
6. p r e e d i n g
7. h a r v e s t
scatter

Review Grammar Test
1.into 2.be 3.shorter 4.come
1. Weather includes clouds, wind, rain, and snow.
2. Sunlight and rain help plants grow in spring.

3. In winter, some plants die because of the reduced sunlight.



?‘9’9‘:"".“’!".“

[sunny / stidlo| et
OfF A7} AofLt GHALH 22 Hopt Z2X(of

oot M [temperature / 7|2, 2]
o 22 220 J2Q| X7t EHEA =2 Ht
2 MX| 4Tt [tilt / 7|20]CH]

CtS RizZil| 22 TS B2ML.

g / H=E =t / Mol / ZAt

. of52 7|H X2 gELct. [molecules]
HIE OFF 22 2982 MELCE  [drops]
. 7FE0lE tRE2 20| 722 Chdls HoIE X
xBhLICEH [store]

A2 B H=E == 2 SHYULCL
[orbits]

HES AYsMI
=7 52 Bo7I2HE | 9L [close]
SHS0ll Qi 519k M4 Z2 3|Mol Fof2  [cloud]
UHMOl 37|Hot "M o 22 [dwarf]
0

AUS 57| e Aot A [instrument]
BIE(HIH O 2 Zoz 220 ARIXICH  [set]

S0l M7IE 2= [breeding]
Lol AES 2Lt [harvest]
%}t ote| §t Hoj= 7127

[scatter(E0{X|CH)]

Review Grammar Test

AZ7|2 [into]

1"

4T

5
s 2

. SlE2 AR 0| HIX|7L T150] 2 & USHCH

[be]

. 7122 207t 6iE T ASECH o BELCH
[shorter]
. TE2 HI2F=0| LI2E RYLICH [come]

2E T TlolS A 23 ChE 2YS T 242,

. [Weather includes clouds, wind, rain,

and snow.]
HMl= &, HIE, 8, 12|10 =2 ZegiLct

. [Sunlight and rain help plants grow in

spring.]

Mt HI= Z0| AES0| Af2tks XS =RELIC,

. [In winter, some plants die because of the

reduced sunlight.]
720l E0i= A =0l L= AlZ0| ZELIC

17



| 22 514 | X=Xt HE

iz E22 8 X=XtE &7| Slo FHEILICH FHSICH= 22 o AfZHo|Lt EHAfjol| chet 2-do|ut BithE
EiSh= AYULICE 27t FHske HE M2t SiLCh MA0M 7F B2 S2E S22 AIE0| S2[Eich d2
HE X=XE2 MECX] 240 YBEELICEL AHSICH= A2 29| B Lol H= MRS M¥sk= A2 2ol
Ch BE 0| MEHS2 MEE X|=XHS0]| 2feh AHELICE

HE= OIS 21F0| U2 ARISE FQELITE Al2l3j2te she ARFSEQ| T2 AIE {18t HES HIFsiLIt
AHE ARZIS0| HIEA| A|2] 1S ZE4ot=F BiLICE TAR= o 2ot THES LHRILICE Eik= EHol SHstA| &
&[S L TALE HAEOIM LELICh

| = |

Comprehension Checkup 1.F 2.T 1.c 2.a 3.c 4.b

Vocabulary Focus 1.d 2.c 3.b 4.a

Leaders and Governments

1.vote 2.position 3.appointed 4.council

Grammar Focus

Summary

| Reading Focus | 53p.

- A= BNIIR7

© FIHAIE flot HE BELIR?
| Vocabulary | 53p.
- vote B EHsICt HER
- election [z M7

- government & M2

- appoint & YHsIC}

- council [ 23|

- judge [ TA}

« law =E

- court (@ Hel #HAY

» HO

| 23 XI= | 54p.

+ Government buildings in Washington, D.C.
LB DCo ER U=

- the White House B42f2t

18

1.appointed 2.made 3.

elected

election / appointed / mayor / decisions / fair

- the Capitol 23| QJAIE
+ the Supreme Court CHEH2

2
7
a
ol
=
1z

[c]



2|7t EHslE= e SELTE? [a]
a. M7
b. 3g
c. 99
FIHAIE flgt HES BELTF? [c]
a. (H5H b. AZ c. Al 93
AZ2 RS L [b]
a. XM AE ¢fet EE 2L
b. AIZIS0| A2 HE & X|7|=X| SIFLIC
c. M7{of chH[gLct,
Vocabulary Focus
LIS HHOIE U2 SSut HHSIMIR.
EHoIC---- d. o AR E= AES MEisk=
K| LIEHLHC
M ----c. SR YA2 FFIIE MEiSH| ¢
ol Exot=
H---- b. AIZS0| wtof 3# &
TAL---- a. HES MU= 22
CES diZio A2 THO{E DEMS
2| / FHoict / Q3| / dYE=
SEHTH= 22 o™ ALZO[L} Shxjjof Cist £Ho|
Lt BICHE Blisk= AYJLICE [vote]
Yotz A F7tE ofiet 2Lt ol H=
Algtg M¥stk= A2 SELICh [position]
TH IR X=AE2 YHEELICL [appointed]
AZ|Z Z2l= AIMEL| HEH2 AE 2t HES

[council]

2SE: beSAL+ THAEANE by + SHLIX)

017+ 252f 2loi| 2lsH 0T Hefoll Z0A =US
£ TSHE MERUCL +Sti= (beSAH+ LHZAD
| ez Sk ILEII'_ HRRIZE LRI ALRHO|A
+SEf SAHFHoll U= by

+ HRIXH7E *o"éfEIE %ﬂ—‘?— f HELCL 2102, (beF
“~5a L

b= olojol Zig A

1. 28 R XEAE MEE X|=XHS0]| 2f
i XIHELCH [appointed]

2, FYE= OIS 230 W2 MESE YL
[made]

3. YR R X=AEE FHE METX| SELIC
[elected]

EZES 2%a1| sl izl Y2 HolE 2t MR

AZ /e [ A/ BN ) B 2

O

We vote for our government leaders in an
election. Some leaders are appointed by
elected leaders. The city council makes laws
for a city, and the mayor checks that people
follow the laws. Judges make decisions
about laws and make sure that laws are fair.

Sl AN HR XEXtE &7] s SRELICH
P XEAISS HEE XSRS o YHEC
Melsle Az |%_ %— e, ¢ 2 Aol
S ZASI=X| 3

L{2|1, Hol SEstAl | HE



| 22 514 | =29}

HHOL}
—|—||_

The Capital and the White House

H&E D.C.= D=9 +=LICEL Y&E2 0|22 Zrf thEd ZX| YoH 0|82 WA XIRELICEL D.C. =
‘2|0t EE'E Kok, 7t ot st FAYULICE
Y D.Col= H2 H=Et 78=20| UELICE 7|E=2 ot QIS0|Lt Aol Chet EEEE Z2H4S LiEU= 2=
O[Lf RZbILCt,
A D.C.OI U= 0= =3 2AIF2 1= 0| LICE IN2 QI3IE ol Yoh= ARES0| Btz LTt
ol3|= MR UFRO R IT7IE {5t HES MITRILICH M2 (SHE0| A1 YUdk= RAULICH U2 AS0|
i HHotEtS ZESLICEH CHEE TFA2 tEE2| 34 YRAQULIC ok oiRkElo= 140H7IK| 88 + AU
SLch
| = |
Comprehension Checkup 1.F 2.T 1.b 2.c 3.a 4.b
Vocabulary Focus 1.c 2.a 3.b 4.d
1.capital 2.monuments 3.building 4.government
Grammar Focus 1.visit 2.are 3.are
Summary capital / monuments / respect / work / lives
| Reading Focus | 59p. | 28| HEH % s
AlE] ol= oIAjEte Tofo|719? 5
HIE D.CO U= =2l 2MSE FAE Comprehension Checkup
- EFRE AIRA(HOl TRA)2 20177
W= Y2 TE, WX = B2 FE IEMR
| Vocabulary | 59p. 1. XX| YAEL 9AIE D C.E [t 0[20] X|{&E
- capital @k Lct. [F]
+ stand for ~= LIEHACH 2. 07 2J3|olM Ydk= ARSE2 =3 QA0 Bt
© museum [ 2t=a ot [T]
- monument & 7|EE, 7|
- statue (& =2t T U2 B2 2N
. (o) Z=74
respect =& 1. 222 2oof 2t FULII? [b]
. & EfIso _
oval ® ErEEel a. 2] S0 of g 48 DS 2t
. 4] LAlO
official U [=) —|—-| b. 104}6“?_1 DC. 9|_ a O|-0|
« dini AlCH
dining room %3 c. YAE D.COIM Al eytg

20



2.

4.

A ON =

0= == OC|ULI7F? [c]
a. 52

b. EAMH|A

c. fEDC

Ot AlZhof CHEH EEst 242 Hole 1152 7
AYUL7F? [a]
a. 7|g=

b. 0|= =8| MG

c. (BHofzo)) LSy TR

0= ChEZEE ofCloflM LEL7K? [b]

a. S=TolA
b. (HHO}IIL_}QD =2 RI2Al

. HHOKT} OEXEXIO) A

S4 - c. 20|} B2 BIS0IE 2
= a. 27| tfet B2 o
ERIZO] - b. ZiRF 2|
Ao, ANE BHe

CiS fiziol Y22 TS 12N,

UB /4% WP/ 7MEE

B D.C.E O=e| =YLt [capital]

F&E D.ColI= B2 =t 7|E=0| USLIC

[monuments]

HEE D.CO U= ==] QA2 2129| 0|5
Ct. [building]
olzl= YR REC=Z ZVIE flet HES ME
Stk [government]

Fojot SAte] 40f x|

=27 50 + 2 SAt
SRl ARIS] ZHOIM =4 AL FOZ 2H =+ 5

A2 MOF BHLICE people ‘ARZIE0|2H= 2jn|2
B 0l AIHE 7127|122 Z4 BAIYLICE e
T2 ML= A= people 20i= ®S 0|F=
AL Ol E9 glasses(Qt), pants(HFX]) 50| Qe
S AMIY T S SAPE ERELCL

2 0% I 4n

Uoe CiojE DML,
1. 2 ARIS0| ofid wotplg wesic  [visit]
2. 7{7| ® Ho| Al2E0| QLIR? [are]
3. 0l 2180 Sniol? fare]

Washington, D.C. is the capital of the
United States. Washington, D.C. has many
monuments—buildings or statues that show
special respect for people or events. People
who work for Congress meet in the Capitol in
Washington, D.C. The White House is where
the president lives and works.

AR D.C. 20| SEQLICE YAE DCOK= B
2 7S —-ARZIO|Lt Aol CHolf EEet Z2HS Hol=
U= B2 SY-0| UGLICE 3|0l M Yoh= MEHE2
HE D.COI U= =2 AH0lA THLIC 2ok
o [’_HEE10| M—, °'o|"— _._ol|_||:|.
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Taxes

| 22 &M | NS
1760HACHO], OI= L 13742] F= AlRIX|7F HAMGSID QIASLICE ARIX| F012 F=010[2k= ot £X| 3| =&
o] SRIE = RS AHAZYBSLICE
SH|2H AZ0| HHYZ | ARIRAELICE &X| M| Z&2 ARIX| F210] £0t5HX| 411 HOIS0[X| Zdh= #E HENU
SLICH 0] ZS0A A2, 2, J2(11 0| Z2 Aol MZS L2t FASLICH ARIX| F2U2 S01E & 1, &
0] 710t XIZ3ELICE SHX[2E &2 F7HHIZE K|S0t Sttt HMSLICE 0] 7t HIE0| MZO0IUELICE
0= ARIX| 20| U= MZ2 22 = F2E SOUELICE 0] FA|, =2 Uthet H|E0| S0 o ZHA
MHS o 2 22| 20l £X| 3N 22 B2 =0| HRELICH
| = |
Comprehension Checkup 1.F 2.T 1.2 2.a 3.c 4.c
Vocabulary Focus 1.d 2.a 3.b 4.c
1.ruled 2.ordered 3.pay 4.expensive
Grammar Focus 1.did 2.paid 3.had
Summary ruled / ordered / taxes / extra / money
| Reading Focus | 65p. | 2l e % 51 |
. ME2e ZoigloiL e o
MZ2 FROIAR? Comprehension Checkup
- 0| ARIX| =0Iof|A| 2f MZS LH2te FIHLR?
U= BE2 TE, WXl o= EE2 FE 1E2MQ.
| Vocabulary | 65p. 1. 1760Hchof, 0|20 QUE H= AlRIXl= Y o 2t
- grow [ LX6ICH MESICH of=&LICH [F]
- proud EXICE 07|= 2, =2 DA chEleh MEE MY 2o =0 Z
« rule [E/SX[aICt CtAZ|CH QYELICE [T]
- accept &/ 20rS0|Ct
- order [& 5Tt 71E AUSt2 HE 12N,
. o] M=
(EVGEN= 1. 222 2%0)| 26t SULIR [a]
. oox
stamp (& 23 a. XX 3H 22T M2
. i E] ZH Alﬂ-
expensive [ ZH] b. AI0IX| ZOIS0| 7}HE KA
c. Gxut ZHA 7Ho] T
2. ADIX|] FE2 1760EHof| £X| 3M| =&2| SXIE
2= 0] CHol O1EA| =Z&LIINT? [a]
a. JAS XZAHAHSELIC

22



3.

b. J710f thall 27t etELIct
c. 27301 thsh SELICt,

ZE0l| = 0= 0] AFYLI7F? [c]
#E 71740 2otS0[24 1

Y

i
2
A
+
r2
ro
=

e

ZX| 3M| =&2 ZEA0 M M27| 2ot =
0 €2 ZQsHA| ‘L’g '—IEf
! Hofl Cis MiZ= Lot

-

iBIx| 000|422 ofcl2 &Lk [c]
02 yea

ARIX| F2 AHIS0lA=Z

N

. TRBICH - . RN Of 2 HHEA]

SE - a. BELAZ 90 £0|= &2 0| 52
SIS}, AYEBICH - b. WD o HHAICk
wotgolct - c. Holof Selsict

/ Xl=sIct
AlDIX| FRISE EX| 3N =2 X|HIE = 2ol
Chol XHEA 2 HIELICE [ruled]
&2 ARIX| F2lofA S0 chsll MFS L2t
HSLICE [ordered]
B0IE 4 I, o222 B0l 7tAE X|=sHof L
= [pay]
=2 THAN HA 0 =0| BO| &= TS
FHSLICE [expensive]

AlH|2] ZX|

and2 T 7He| Ho| HZE|0] QU= B2 F e B2
22 AIRZ FBLICE whenZ0| MO[7LE thatE0[| M1
ZHOME SAI0f Loft AR B2 0] 1A Al
HMo|H LHHX| SALE 2kA A=, S AIKO|H Loy
K| SAt= SIxH AM|= MOF iLC.

EEE Q%sl7| fll HIZh L2 TS St LML,
Mz / 333t / = / SXgt=s / F19

In the 1760s, the English colonists in America
were happy to be ruled by King George Ill.
However, when the king ordered them to pay
taxes, things started to change. They could
not accept the king’s order. They had to pay
extra money for sugar, stamps, and paper.
The king needed the money after a war
against France.

1760EcHof, D=0l Q= G2l ARIX| LSS x|
3 2ol SIS ¥l =0l f 7 MSLICE SRR,
0| 2S0l7 MZS U2t BAE mf 2eo] Hato|
AERBISLICH 1SS o] HAS HIOSY 4 9f
LIt OS2 A8, &, 12|10 30/ tish =2 $7f
2 LHOF HSELICE &2 of ZZA HH 0|20

LRI



A Nation Is Born

| 22 34 | Z7Ie] EHY

—_——

1776 0|72| G= AlTX| F2U2 2 =XIE FYSLICL 252 ZX| oA 0[=2IS2 XIRE #s

9| Li2f, 0|gE=0[2t= LI2tE MRt TASLCE

77611 78 4% B2 012 XISAS0| S MoK ABYEUCE J2iA 0IZ2ISS X3S 0 78 428 =

Z 0=9] etz 7|FeiLct 0= S8 MAMoll= 2E A2 S5 Efoist, 3=

LH0l
=,
S5t H2IE FUCD, 012 1 H2IS WO 4 ST Mof URBLICE

Comprehension Checkup 1.F 2.T 1.b 2.c 3.b 4.a

Vocabulary Focus 1.d 2.b 3.a 4.c
1.step 2.celebrate 3.equal 4.rule

Grammar Focus  1.listen 2.do 3.study

Summary start / signed / rights / told / listen

| Reading Focus | 71p. | 2l e 2 1Y |

7t aS0lA

=2 MRS AAZ XS YYS 2YY Ft ot X=XE2 FsUct 252 2| =Y, R2=

- 1776\ 78 40f F& 0| YojtLIR? Comprehension Checkup

- Of= S8 deM= FAe1e?

U= 2HS TE, YKl 9= U FE DN,

| Vocabulary | 71p. 1. ZX| 2L 0|20150| D22H XAF2YX|7|E
- step @ =X/, =/ HELICE [F]
- free @ AIR2L 2. 0|29 X|TAIES 50| AAZ ExR[5{oF BiCtT
- declaration (2 MM, A arghELIC [T]
- independence [ S&!
- celebrate £ 7|45} Z3t51CtH 713 YSt2 EHE 12N,
* create & 2SCY, SZSICH 1. 222 2o B3t 2ULIR [b]
" right (2 242| a. D}t g3 7io| 7Y
* listen @ =t b. ZX| 2YORLE XYS HoT L3 0|
| 28 X2 | 72p. =
c. 0= =& MM 24

+ American leaders signing the Declaration

of Independence 2, 17763 728 490l & Yo| LowELI?  [c]

S MAMo| MEstn 0= X|=AE a. 0= X|=X=0| G20l thigfehs TdE M

24



ZHEUCE
b. 0120 XIZAIS0| ZA| 20 =&
c. DI20| RIZAIS0| S2) AIAO AMZRtLIC

3. O|= =& MM FI0| M UX| LELII? [b]
a. B2& AE2 B33 EHOfiCt
b. DE AZS Cl2A| j2HkS 4 Qi)

M
c. RZI} IS0 S B2l FUew, of
S 1 212 wiolorz 4 itk

4. 0|2 X[=XHE0| 22 YE HsL? [a]
a. AIIE2 AAR EX|3 WS ZFs Hal7t
(A

b. MEHS2 Cifeh a0lM 4 2|7t Qlot,
Z

ARE2 RRlQ| F0|E 2 #2[7t AT

PN
3. =X|----a. EMIE XMelst7| st s
4. ECt----c. =27 Lok Ao Fo)2

1. 177601 0=Z0f U= S=2| ARX] F22 02
2 ZXIE FRsUC [step]
2. 0|=01SE oXls| o 784S =B 7IEYUR
7|t [celebrate]
3. & A2 HS5H EHORtELICt [equal]
4. NEHE2 XRE0 AR SXY YWHS 288 3

2|7t ASLICE [rule]

O[2HAIA]: be going to + SAHE
oj2He] 2ofl chsh 2Et i be going toS ARSEILICY.
'~ Jo|ct, ‘~gf oflgoICH 2k 2|0l LIEHL, be
going to Floil= SAFE0| 2fof SLC,

[listen]
2. Li= O%S S| @2 XYL [do]
3. JUd= EHdl S5 AYULC [study]

Sct / AEBiC / Bl / 2ch / Mt

In 1776, Americans wanted to start their own
country. On the fourth of July in 1776, many
American leaders signed the Declaration of
Independence. It said that all men’s Creator
gave them certain rights and nobody could
take those rights away. The leaders told King
George they were not going to listen to him
anymore.

17763 012 AIES2 IS Li2tE AlRlste 4
GLCH 17763 7€ 4, 0= U2 X=XEE =
MAMO| MBJSLICEL =& MAM= 2= AR &
AF7F AESOA St 22IE FUL, O :La1
of d2|E oot 2 4 Qictn SLICH X|=XS2

X =2golA 2=2 o ol 19| 2= EX| ¢4= Aol2t

LRELICE

£Q

L}

k=l
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George Washington

I= AR S o BoIMEHC J= 0= =8 oY 3ol 2

—

=]
SR of AlE2 20| O UBLIL 252 S5, tET0|, 715 M=, S+, J2(1 JF F2I=0]
L|ct,

7t aSS 2z UET HYez 0|BUSVIL? RX| AJEH0| I AR0|USUCE I

5
—
JIE2REUCL O gE 98 &0 2S0 eAMEUICE 8E SO AYE 2 et S= ohol helsl o]
—, =

]
b
1o
ol>
o
Hu
=}
e
:Q
>
f

TUSS KR |Ct. 2= 2E 0l=QIS0A 231 53 2USUCL

et |

Comprehension Checkup 1.F 2.T 1.c 2.a 3.a 4.b

Vocabulary Focus 1.c 2.d 3.a 4.b
1.Founding 2.liberty 3.fight 4.hardships

Grammar Focus 1.They 2.them 3.lIt

Summary commander / army / led / hardships / won
| Reading Focus | 77p. | 28| HE % s

S OIZL =01 M| S=i=2] =Ci

M
B Tol AIR=IRIE O 0|=0il= o7t AUASHCE 2 MRIX0IME KRS Pl MPE XS &1 2 Al
(¢]

. L2l MHAHS SO [|AHL}O .
Of= =8 a2 fA0IuHL? Comprehension Checkup

- 7L EES AIRSEE TR HEUUR?

| Vocabulary | 77p. 1. XSS 96l M2 ot ARIX| 20| gt
- founding father ZA[X}, A2IX} ch [F]
- army =z Ch 2. F=9| Frli= ZFX2H Tol|A 0= ZCHoll THE!
- liberty [ X} SLct [T]
- soldier 22!

- blacksmith 2 CHEEO| 7HE U2 HE 1EMQ.

- shoemaker (& 715 Bte= AR

- carpenter @ 24
- shopkeeper [ 77| Z9I
. o ME

battle [ TE c. 0|2 =2 XM} RX| YAIE
- command [& X|&[stCt, HEsict

26
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b. 1= EH (HSHOISLIC
c. = ¥R F0[RIBLIC

3. =2 MM = =7} 0|22 0|BASLIIN [a]
a. ZX| YNE b. 012 AR
c. SEE

4. XX| YAME0| 25 20| AtAlo] ofdLm?  [b]
a. 01 Z0jof HE WHS 7128 FULC
12 20 HALS T} 21| QUX| RUBLICE

0= 2RSS 62|12 0IEUBLIC

e

o

Vocabulary Focus

LIS Tl YH2 Sat HAHSIML.
1. 20, 82 - c. T8 F0f| XMoIM NREE &

e MRS
2. XS d. HSHs %0 RAOIE & 4 Y= XIS
3. 29l a. B Lfa} Zrflo] Y

4. T b, HOEHs 2o 710 WS

1. ZX| HJE2 0[EE=2 AR S ot AH0IUE

Lict. [Founding]
2. Zt ARIXoIME XHRE Hloh MPE WS &1 20
i ARRISS BusLCH [Iiberty]
3. ZX| HHEE2 ARSI MPs WHE TIENS
Lct, [fight]
4. ZX| L2 BlE 3E &0l 250 SRS
cth [hardships]

these®} they

of2f 7H2] S710ILt AS 712I7M O] AIRME, E=
‘0|AS0|2kT & 1ff theseZ &LICH T12|7 0|0{M 1
S ChA| 2o} Y& Y, these= “E4'0|22 F0{0|H
theyE M1 2H0{0|H themQZ &LICE ‘0|Zd'0l2}

o|n|Z 3t JHE 72|74 WE uf= thisE LTt this
% HHO} CRA| & M= ThpQlite ARSBILICE

UGk ClolE TEMI2,

1. O] ARHE2 2010] OfLABLICE 252 S5, thEt
0|, 22|11 = MZQIS0IRELUILE.  [They]

2. 0|HE2 Yl H0[0k L= ORES 4+HOBUIOIM At
o, [them]

3. 0|72 SI0| EZFUICL X2 =0l 2 AL

C. [1t]

EEE 29517 sl izl Y2 Tof
Me.

[
mH

2t i<

=t / AE / 0IEU / ST / A

George Washington was the commander
of the American army during the American
Revolutionary War. When the war started,
there was no American army. But Washington
turned the people into an army and led them
in battle. He went through terrible hardships
with them. Finally, the American soldiers won
the war against the British army.

AX| YA 0]2 57 M 0f 029 AREIE
LIck 50| RIS O, DI 207t SBT3t
xpt QMBS AjRiSS T2 BEom, FEUN 1
Sg OLIRIBLICE T FE 97 20] 25T BN

=2 M- —
=2 G2 ol JHM o]

He [IJ|I'I
|_‘,—_|

&L|C} oRElY, o2 22IE
M SEIRSLIC,

27



Benjamin Franklin

HO
gl=l
=
=
>
ro
[]
(11
iy

(L]

I

=
HIXIZ T3 22 H7(of 2ot & 7HK| SRt YS o 222 MEHE T o oIUSUHCL O= HiRs XS FA
S0, HElshs AS ORI, 7|70] 5| Lot ELICH OF FH20IRS o 2= AMHS AR
1, AES o, IHANS ZEISIH 47 2UE Se Xs SeRELT

HIXI ZEE2 S8 MMl Mt Ol XI=ARE & of BOUBLICL =8 T S0 = ZEAZ Ik
USLICE 0|=2AUS2 ZUSEI0| ZZA MESS 456l S| HYM AISS =257 |E HiRtsLIT 12
1 = Hi2 ORE shEUT & O ZEA MEHS0| 01522 FOISS IiEsi=s 4S3lsLint ZgA &

= 0|=0] TN S2Iet=s =RASLIC

I
Comprehension Checkup 1.F 2.T 1.a 2.a 3.b 4.c

03

=1

Vocabulary Focus 1.d 2.c 3.b 4.a
1.electricity 2.willing 3.signed 4.sent

Grammar Focus  1.people 2.leaders 3.students

Summary electricity / learning / languages / convince / soldiers
| Reading Focus | 83p. x| e Y& |
. HIXID| m2f=a|e Lo |99 a
Al BASRES AR Comprehension Checkup
- HIXI THIE2 TRAM 2SS FALIR?
U= 22 TE, WX Y= EEU2 FE 12N .

| Vocabulary | 83p. 1. Hixiel TSRS Zolo| £7| Sish ZYA0 2
- discovery &/ &7 Lict, [F]
- electricity @ 7| 2, DAL= D=0 ZHE EWELICE [T]
- experiment 5 AISI5ICtH
« willing [ 7|740] 3k= 7P YS2 HE 12N,
. ish 5 &msiC N

publish & & 1. 222 200 B3t 2L [a]
+ convince & SSSHH a. Hixtel mERIo| 424} oft
- troop @EEH. =L b E%l'_ Z0l0f| okA Eg{

c. HIXj2l ZHI3ZIo| UA

| 28 xI= | 84p.
+ Benjamin Franklin is reading the Declaration 2. HIX|O Z2HZ2I2 Tojof Zst EQFH LIAS S

of Independence. L|7p? [a]

HIXHZ Z2S2I0| = MAUME ¢ JUSLICE a. 7| b. Z0| c. K=z}
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o

il
Jou
i
=
3o

Vocabulary Focus

Ch2 ElolS ate St oizsie.
1. &7] - d. ol B2 MZshs o Mol &
2. MBI c. OfE 0| AKRIX| oty ¢

=
off LSS Aldal 2ot
=7

I2 stoig RS LAl sict

CHS uzio] Y2 ClojE TEM,
N / F71 / U1/ 71| B

1. HIXIR DSR2 Ho|of 2ot 28 H 7IK| &

7S FELICh [electricity]
2, HIX|D THSEI2 7|740] Bels| Yot &L
ch [willing]

3. HIXi2 ZSE2 =7 Mool MEUSLICE

[signed]
4. 012 =2 ®H 30| WD DYI2AS oA
HIfRSLIC [sent]

one of + £ HA}

one of ~& '~ B0 siLteks K& LEHH7| mZof
of Ci30ll= g =4 APt s

1. J= T7of 2t 2 JIX| Q3 US o 2|x9
= & ot Ho|USLIC [people]
2. J= =g MeiMol Mt o= X|=XE & o
O[S LIt [leaders]

3. = stwolM 7H ££5t SHMS F 5t HejLich

[students]

EEE 2%a| flall Lzl ¥H2 HolE 2t MR
Mg.

rir

A [ BSsick [ Z2eIE / HII /2o

TEs

Benjamin Franklin made discoveries about
electricity. He loved learning and taught
himself to read four different languages.
When he was sent to France during the
Revolutionary War, the Americans hoped that
Franklin could convince the French to send
soldiers to America. And he did that. The
French sent soldiers, and the Americans won

the war against the British.

= 21 A =
SALICH 012 52 B8 S0| 10 ZYAR I
2 1), 0]2 AZSS DA ARISO| 020 ZCHE Ot
wolee TSRl MES 4 QIS HiRtsLC, 1
211 I I SALICH TYA ARISS OIS
S WD O[22 S2ate] A0 SRS
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Review Test

| |

Review Vocabulary Test
1.law /¥ 2.convince / M55ttt 8.independence / =& 4.stamp / RE
1.monuments 2.ruled 3.vote 4.hardships

1.accept 2.respect 3.judge 4.liberty B5.listen 6.experiment

awcibw(r\mk

q
(I \i S t e n) z e u r
d .

s n |(p| | v
C D
u i
c t oy
€ T

Review Grammar Test
1.made 2.listen 3.They 4.boys
1. Many people visit the White House every year.
2.King George made laws the colonists did not like.

3. He was one of the first people to make some important discoveries.



1. AIF=S0] 2o} 5k 4

U2 Thojot R T2 MM2.
[law / ]
FaI2 stoig fAS T ot
[convince / H=35iCH
CHE Ltztel XHHE SO FXIZQ! X7
[independence / =&
AT 2ol 20|= &2 30| =2

[stamp / 2H]

FHSICH / HE / A 2= / 8=

HE D.COIE H2 BtEdtat 7|9=0] AsLICt

[monuments]

3M| &2 X|HHE #H= Zdol| o
[ruled]

FHolCh= A2 o ME*OII-t EHxflofl et 2ol
[vote]

1t SRt

Cf, [hardships]

U2 BHOIE MMQ. O CE HENM 1 TS
£ 3ot 3320| M.

Hetof S2lstct [accept]
S0l st E2 oA [respect]
HEE MAUX|= 2| [judge]
otz 0| FANOIE S U= [liberty]
St Lok Ao FLIE 7I20ICt  [listen]
0 20| AFMQIX| OHAXIZE LOH=7| Hfoh A=t

Al Alghel Et [experiment]

Review Grammar Test

MHEL CJof5H XIZ0| BHS A= E2 PAEIL|CH
[made]
Sal= o ol Eiblo] 28 £ o e
[listen]
O AIZS2 Q10| OHLAELICE 252 S5,

0|, J2|1 7F TtEE ARS0|UBLICE

J= StuolM 71 717H 2 AES S o YU

ZE Il EHOIS Hi=27]| 13 COhg 2ES T 242,

[Many people visit the White House every
year] B2 AZISO0| Of HHolks HimstLC,
[King George made laws the colonists
did not like.] ZX| Z&2 AX| 20| Z0t 5}
X| = S USASLICL

[He was one of the first people to make
some important discoveries.] 1= & 7X|

S8 LS o 2RO MES & & S0IUSLICH,
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The Three Little Pigs

| 22 8] | 07| EHX] M| D2

Ol &, Aot =iXI= M| 0f2] OF| HiXISS Moz UWEW RIS RE A=E JSUCh X 0| =Xl &
o= [ X1, =M op| HiXl= LIREYCZ ZS XIUSUICE SHX|ZH Am 07| hiX|= HEXS XIS
X7t 20 RE S CIRELICE St 222 & M2 22 20 2|0 i 0| XIS HotHiE
LICt.

O Og, Sti= LUFENCR & Foz JiM HE FUERSLICHL S/ 07| ZiX|0FY FotHs|w 2USLICE,
oo, Sth= E=8 HEHE 20 FUE2[2 T X2 O HEUD Siis 252 =XKL, SOt A op|
HXl= HHZ0 A2 =22 DFEU Stis £42 £ 9= oM et shds Y1 FH5| ot HRSLUCh
| |

1.F 2.T

1.d 2.a 3.b 4.c
1.built 2.blew 3.gobbled 4.landed

1.first 2.second 3.third

Comprehension Checkup 1.b 2.c 3.c 4.a

Vocabulary Focus

Grammar Focus

Summary build / straw / blew / tried / wolf

| Reading Focus | 93p. 1. =M Op7| HiXl= SOt AP| E Qe2 S0{2=
- SCH7HOP7| EHXIS0IA R 3ULIR? RS SRSLICE [F]
- Srfs of ZOPLIR? 2. A OF7| =Xz Tof sHE K| AUELICE  [T]
| Vocabulary | 93p. 7r8 g5k2 HE nEMe.
© pig Z X 1. 2o} XIS 9f 0F| EHXISS MioZ EHL
- straw &3, U7 e [b]
- stick [/ LIRER, LIZ7IX| a. Yo =HHXl= of7| =HXIS0| HOIE 7IXCH 37|
- brick @ HE £ 37| thZo
- gobble & 2X2| HO{X|RC} b. €0t EHXl= of7| EHXIS0| XIS EE A7 |
- chimney @ 2% £ 37| ol
c. ot =Xz HF 7HASHA oF7| HXIES 718
2= QIA7 | o
| 2H YE % shA | 2. 579 To| ESel 2L [c]
a. Xmf of7| =Xl &
Comprehension Checku
. S o1 a0l =
o= 2HS TE, X Y= SN2 FE 12M2 c. U Ok | =Hxiel &
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3. SOt F3s AsH [c]
- Al o7 | EHXIE 22 MZISLICY,
- HH20| A2 22 DRSO,

- Zdmjet =M OF7| EiX|E EOorHKtELICE

0O T o

4. St o =LUASLINT [a]
Floil EoiA et 2heds A7 | =0
b. A 07| HHX|7H STHE TotH o2y 7| of
=0
c. OF7| HXIS0| M| =0l

Vocabulary Focus
CHS TS U2 X HZSIML.
1. & 2H - d. oLt CHE AlEQ| O &7
2. LIREY LIRJX| -~ a. L}22| 02 7HX]
3. BiE - b. 2T HER B TEE A Hof2)
4. (= Z%E ALo|of) A7|Ct-- FOIIE T
aur

Che Hizhoj 3 Erof

242,
2oLt / XAt / 2T/ FHore!

1. M ob7| EiXle HEES XIASLICE  [built]
2. Sti= Fez & I3 =0 a2l n=s, AN of

7| SHXIE ZHOHHRAELICL [blew]
3. =M op7| ehiXl= Tot HJHSLICE  [gobbled]
4. sth= 20| BoFSLIC [landed]

72t M

one - first two — second
three — third four — fourth

five — fifth six — sixth

RAE M= PEez Sl &, A, XY M digat
W, F R, A, XY =ME UEE |/
BO| UABLICEL 2 RXIE 7|2l 511, =M Lt
Eftii= FI2| RAIS "A4'2ta SLch

1. 20 op7| EiX|= o2 &2 XIRSLICt  [first]
2. =W Op7| =Xz HREUCE TS X|USLICL

[second]
3. 0I5E2 3501 UBLICh [third]

EES 2%317| Hafl HiZHol| L2 EOIS S2t JPMIR.
Ao/ 2ot / so /) A= /O H

Once a mother pig sent her three children
out to build their own houses. The first pig
built a straw house, the second pig built a
stick house, and the third pig built a brick
house. One day, the big, bad wolf appeared.
He blew down the first two houses and ate
up the two pigs. But the brick house was
so strong that the wolf tried entering by the
chimney. The third pig built a hot fire in the
fireplace and scared the wolf away for good.
SUoll, Aot =iX|7E O | HX| HHME 2L xRS
S A= FELCL 3 =HiXls Fez E S
X|An, =i =iXl= HFEAeR F S X|leH, Al
W =iXl= HE S XJYSUCE o= E, GX| 2 RE
SOH7H LIEEIELICE Sti= X2 F 8 S0M R4
w2|n = op2| HXIE B2 H7A HRSLICH SHX|2
STU2 iR EEGiM Sthi= 2522 S0V Al

SUCE A =X |= HH20| =H2 25 TR,

9

J

\-III'

tHoilA| Z& 70 &3] Z0F HRELICh
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The Blind Men and the Elephant

| 22

= et 3|
I72IE P 7k oA
LIC} “IRI7H =1 7AT5t & 2o} T o

= B HXks, 71212 M| 2ol M U= 2

|

OII

I HXk= 2771212 et FT2(EE)E URE

—ll_l_

"
=.

Ml Xk Z771219f Chzjof FEHE SHE M= TJELCL 272 4R 22
Hl i Xz 27712129 HE SR|T= LMESLICE “27|2l= AR 212t HI%e|.”
CHA il EXb= 2712(2] FiZ 20 M JARELICE T= F7712(2] m2|E H ZISLICE "272l= BHEat #o|
HIRSRL" 20 Z7[2|7t o4 B JXIE 22 ZEK( EfgtELICE 2% s2t HXi= T7(2(9) 25 LoUiH 23
SLCL “T72l= F2 o 2 M Zof”
| = |
Comprehension Checkup 1.T 2.F 1.c 2.b 3.a 4.c
Vocabulary Focus 1.b 2.a 3.d 4.c
1.visit 2.reached 3.tickled 4.trunk
Grammar Focus 1.near 2.on 3.at
Summary side / tusk / leg / fan / rope / trunk
| Reading Focus | 99p. | 2| HE 21 |
TV EIIRS Eres B
- ZAEle Lz FAWIR?
W= BY2 TE, WXl b= EE2 FE 12M Q.
| Vocabulary | 99p. 1. FRIe] 7ickst Fale 5t =8 HRlol okl &
* blind [#=0| A 2 Sl ZUSLIC [T]
- side @/g+2], & 2. I7le] n2l= o =M HAIZ 5loig 2 M
- tusk & 2L, Aot LA SESUELICE [F]
- spear (@ &
- tickle & ZtX|& EfCH 7HE A2 HE DEMQ
¢ startle & B S=p Sict 1. S ) ARKS 19 £2 ofclol S [c]
- trunk [=/(Z7[2|12) 2 a. A7Rlel = b. F7I2]2| A
c. T7|2|Q| Aot
2. ot = M ARRE A2 AkZstod 2712 th2| 3
2 MASLIIN [b]
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a. 2 &t b. 19| = c. J19| &7f2t

3. Ul M Hxl= oAl 27212 Fak2tn MZiEL

7R [a]
a. I72|e] HE P2
b. Z72|Q] W22 oS )
c. F72[Ql Cj2|2 Tt i

4. oM S EXb= of Z sRESLIII? [c]

a. IR 2 7| W20
b. 727t 28 H2|2 LA7| W2
c. I27t OE T2 ZHKERT| W20

Vocabulary Focus

1. ZXF EfRCH---- b. 27122 TE M9 & ¢
off REEA 2K A STt

2. 2% z2p| it ---- a. FaUIE TRAEA =
2kl stct

3. & d. 3 % 2ol WIST WER o Q= o

=)

cH7|
4, (Z7RIQ) F----c. IV|2|Q| iR 7|t T

CiS fiziol Y262 TS 12N,
UXFRcH / @72l 2 / Yot / Wl

1. 7RIS L= 2F A B9 =M MES0| U

ALt [visit]
2. N Hmf A2 T72|of Ci2| S22 YTs Wl
FLlch [reached]

3. I2l= Z=2 o4 Hn HXIE KBRS LC
[tickled]

4. 2% =2t O A2 3712|9] 25 LoRSLIC
[trunk]

HX|At near, on, at

HXIAE AHOILE AFZ2| fIXIE 2 W RESH At
e o USLICEL FRIAE AL ol A LT

near. ~2| Fof| on: ~2| 2{0f at: ~0f

S 1 Mx|ALl| S32t0] XML,

1. F 9 gXh=, 2712]Q] H2| ZXol|l M AASL]
Ct. [near]
2. J= XMl &5 T7R(Q 21 EIIRE Aot ¢
off HUASLICE [on]
3. Ot Sl Xk Zf2le) FZ Zofl M JAASL
ct, [at]

EEE 517 2fel HIZh AR TS S} M.
ot/ FF2l / B / @7Rle) 2 / o2l / HE

Six blind men went to visit an elephant. The
first man felt its side. It was like a high, strong
wall. The second man touched its tusk. It
was like a spear. The third man reached
around its leg. It was like a tree. The fourth
man touched its ear. It was like a fan. The
fifth man grabbed its tail. It was like a rope.
The elephant tickled the sixth man with his
trunk. It was like a large snake.
oM Fol = AFS0| Z72IE Tty s A
tH A2 Z72|el F2lE B BEUCh =0 A
ot H ZUSLICE F HI A2 27(2]2] HotE 2t
XN BSLICE OFx| & ZUSUCHL M B A2 27|
2lof C2| F= EHS 0o 2USLICH OFX| LIF 2
FLICH 4l B A2 F77[2|9] HE BPRELICE Otx|
Sxf ZASHICE T Hi A2 F7i2le] m2lE &
2

[==

UEUCE Z7EPHE= oA H

USLICE OFR| BE=

W AlEE ZIXERASLIC OfX| 70kt 8 ZRLSLIC
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| 22 A

| 2|2}
QMls BE XS Y
7 [Tt 2m2t0f A= i

il =2z Sl E=a
=2 FUHM 2HE

Opera

o171 2rf 92 7HM ojopy |2

£ oI

FESLICE S0 MHE2 oS 2

FE271 0[0F|E HI[SHKIZ, ThA = U a2

1 LS REs SO AAED) HIRS0| HF REE SAUS BFYUCL 2i2ts 28 QU2 5RA0M S
SELICE

M2 Qu2tS0]| 0|H2[0f =Y, J2|1 ZYAQL Z2 RE I7IS0|M HRUAH X=7H500| 2fsh A0RSLICE /2]
ot OlR=Z U2 2M2tE Foi7t ot Aoj= R2= AYLICE SHX|ZH 2ot 10| Ui OFSE7| w20, &S 0l

SH5HK| RICEtE B2 AIIS0| U2t S5 XS X

| |

Comprehension Checkup

Vocabulary Focus

Grammar Focus

Summary

| Reading Focus | 105p.
- QU2ts FAAUTR?

ZOfRfLICt,

1.T 2.F

1.c 2.a 3.b 4.d
1.speak 2.performed 3.written 4.sung

1.but 2.but 3.but

1.b 2.b 3.b 4.a

speak / sing / written / words / listen

| 28 & = sy |

Comprehension Checkup

- MEHE2 df RIS E= XS FA E0l6HR7?
T 23R TE, UX| Y= 2US FE DML,

| Vocabulary | 105p. 1. 2uf2lofAf HIRES 250| tHAIS elfBiLich[T]
- play @2 2, 2m2te| o= T2 AIRSO0| QH2IE 205k
- instead [ CHAl0| DHSLICE [F]
- costume (@ 2|4
- onstage ¥ 2rf $I=2 71 YUSk2 B 1ENR
 actor @H 1. 222 2ou Bst IR [b]
- stage (270 a. Qujab} ZHisl= 2
 perform (5 SoICt b. Qu2te| EX/7t 2ol Qo]
- composer @ 227} c. Uz Xz}
| 38 X2 | 106p. 2. O/ BOIA QURKE AIT HIRELIY (]
« Actors performing an opera a. HIRS0| QAAERI| Q5 H=E|= S0t

2I2tE 3otz RS HH g FELCh

36
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P ODdR

c. HiPS0[ 2o oA tHAS ZrefLct.

2 202t H=Z7HE2 oClolM E_ASLITT? [b]
. OFAlOF =27}

- 78 =7t

- 0=

0O T O

off B2 AIES0| u[2te| tHAS OSHSHA| ZEL
7 [a]
a. AR} 047t otL{7| whZof|

b. 2fel 40| HF 27| =0

c. 30| 0fslfst7| LT OiF7| =il

Vocabulary Focus

22 OE FAHTIE thAlHA
S M -~ - b FE 2t i o

R ---- d. $12 2z}, = FSloN HI k=
N

0f
o

CiS RizZioll Y2 TS 12N,

Lilels / SE / EIiCh / L6

. 220, BIPS2 tHALS 2EIA| SELICh

[speak]

. 202ts 28 22} 5tRA0A SHELUC

[performed]
E2 22t o[Z2(of, =Y, J2|1 THA A
U ZIIHE0f Qe MORIELICE  [written]
]

rI

. M2 202t o7t ofd o= e FELch

[sung]

&AL but

TEA but2 T2ILY, ‘SIRIRFOj2k S LIEFLICY,
XS 0|2 LO|22, bute2 HAE F 79| A
O M2 githel= B2 o AZELIC

U3 Clolg m2Me,

-k
=
= =

Hg%g ZLHOIA O[0F7|2 22 Sk H7(SHX|

OS2 AIE YUsikl= ELIch [but]
r%r%% 1E Z0FsIX|2, L= JI™X| 4&LICh

[but]

3. L= DIZSRIt Al SEsLc [but]

rl:l

»
>~

wefsict /2, tiAp /20

In an opera the actors do not speak any lines,
but sing them. While they sing, an orchestra
plays music for them. Many operas were
written in ltalian, German, and French, not in
English. So many people do not understand
the words. However, the singing and music
are so beautiful that many people love to
listen to operas anyway.

220l M= HiRS0| tAKS K| ¢4u, eahigiL]
Ch. 20| effoh= St AAERT OS5 flel S
ot AFEILICL EL% H[2E7H Fo{7t ofl o|E2|of
, AR MOIRISLICH J2fA] 2
S22 HAME OIEHQ 271 QIELICE SRR te2f
IECHAA 0= B2 AIRES0| 20

37



Ballet

| 22 51 | L
eil= &9 ¢ s?ﬂ‘;l Lc}, geil= Sget =S T2 FE43U EUCL

2ef= Olop|E HEE + USUCE Loll= S20] U= thol 2HAE2L0] 2ls HFEIXIZ, OFRE =2i5HA
Lt Z3tRl= st tidl B2 oM £E452 SX0l= YAIS SciATh 0[0p7|E TEEILICE o Hell=
(BRf= & £9| 3F)2| 0)0b X AZIS0| & 2t 0[0F7 IS TFLICH,
EE| —.—9-—.—%8 0[0F 5tz ZE RS HIR7| flo CHAZE H&aHoF Bl 252 S| HEaHok 5i iR £
£¢f Ch2lE 21 U0k LT FES FXAIGHL == M0f5t2{ L ofiAdoF BiLICE Tz OS2 $EC=U F= &

7| gUCh W2 352 AL 361 |= fUCh i2 352 S522 =0| FI027 | S Ch

| = |
Comprehension Checkup 1.F 2.F 1.c 2.c 3.2 4.b

Vocabulary Focus 1.c 2.a 3.d 4.b
1.orchestra 2.move 3.balancing 4.leaps

Grammar Focus  1.practice 2.work 3.has

Summary dance / orchestra / balancing / tips / leaps

| Reading Focus | 111p.

- gl FAIR? Comprehension Checkup

- g2l FE7t E[7| 2l 70| ERe1L?

| Vocabulary | 111p. 1. Yol 28452 2K wafich

- training (@ &3 2, W2|| RES2 55 50 BRI ES
- balance &/ #&2 [XlotCt ct,
- control S/ M0{5ICt, SHISICH
- spin &/ &Ct 71 L2 EHE 12MQ.
- leap @ &2, =0|H7| 1. 222 Dojgl| okt 2L

a. o] At

| 28 %= | 112p. b. 22 gt ur
« Sleeping Beauty 2Xl= & £29| 2 c. 29} iy 22A

o

2, YoM £t SUS HFELIN?
a. B
b. 284
c. ”AAER}

38

[c]



3. L FE0i| 2ol 0= 20| Akelo] OFELIF? [a]
a. M= =S Sah 00F|E HEELIC
b. = 7% s Ch
c. M2 S22 =0| FHLELICL

4. L2 R8+c of 1R EET L2/t ZQEUNT?
a. ol Y M U0{0} 17| uh=of| [b]
b. 7S FAl5IL = H|ofso 51| mZoil

c. 22|7|Z HS3HOF 5t7 | ol

Vocabulary Focus

1. 7S RABICH----c. 25 BE MME =X

2. Hofstet, =B35St ---- a. ofH 20| Aklo] #st
£ 72 5l=S pstt

3. siMsich SCh- d. 02 W Y St

4. 9 £0E7| b, 2HT

O / AAER} / =9 / 7 7Aloh|

1. 2foil= S210] U=tl, 7 2AAEZ 0 2lsl H
ZEIL|CY, [orchestra]
2. B B0, 2852 250] STl YN
TERILIC [move]

3. L2 RE+S2 TS T2 oMo BiLICt
[balancing]
4. 3T L FESE2 SE2E F2 £AUS UL

[leaps]

have to

have/has to + SAFRE: ~sljo} St}

have to= ‘0 4~ @10] 2% afioF BiTt, ‘I R
7t 7| W20l 2 ™A Bict 52| 2ojS Lietd f

ASEILICE 321 H4 F0{Y M= has toS &LIC
USL2 OIS T12MIQ
1. Yol FELE2 LRSS BE ASS iR sk
4 7 182 siof BILIC [practice]
2. Lo RE4E2 =S M(0{5k2 1L ofidoF SiLct,
[work]

3. dli= 2= 220l A=l 7tof LT [has]

EEE Q%sl7| fll HIZh| L2 TS St LML,
2/ 8/ =%/ a8 [RGB/ 2AAER

Ballet is a type of dance. During a ballet,
we can hear music. It is often played by an
orchestra. In a ballet, the dancers tell a story
by dancing. Ballet dancers have to work at
balancing themselves and controlling their
bodies. Sometimes they dance only on the
tips of their toes, spin around and around,
and make high leaps into the air.
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Review Test

| |

Review Vocabulary Test

1.trunk / (@72]9) 2 2.costume / QA

3. control / Mo{5iCt, Z&ESiCt 4. stick / LERER, LERIHX|

1.gobbled 2.speak 3.balancing 4.reached

1. b r i c k
2. s t a r t I e
3. I e a p

4 1 r a w

S. i n s t e a d
6. a c t (o] r

7. s p € a r

balance

Review Grammar Test
1.second 2.on 3.but 4.go
1. Ballet dancers have to work at controlling their bodies.
2.People like him, but | do not.

3. The clothes for children are on the third floor.
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LY

=M ZE A 6k

= =1

Review Vocabulary Test

USL2 Thojel P2 TS MAR.
1. IR R 7ICt F  [trunk / (F77|2|2)) ]
2. HiR7} =5t Ho| 2 [costume / 2|4]
3. 0t 20| XHO| Hsk= AS St=F PHSCH
[control / MO{5ITt, =&5iCH
4. L}RO|OI2 JX|  [stick / LFREL! LIZTIX]]

HoiMsl= / Eoict / HRCH / T RG]

1. =M 017| EiXl= FOMHRASLIEL  [gobbled]
2. QW2tofM, RS2 HAE Z5HA| s

[speak]

3. L FE+S2 TS T2 1 oMo BiLICt
[balancing]
4. N i A2 F72(| Ci2| S32 YTe Wl
SLct [reached]

1. ;L_?_:Pﬂ I-IE El IIH:I:F%I- A|-7F%4 I:-|0-|El_| [brick]
2. =772 URARA s21A Slct [startle]
3. 23z [leap]
4. OILtCE AlS9| i &7 [straw]
5. 7t E2 CI2 RIS thilsAl  [instead]
6. 0=, mzl E= FsloM A7 [sk= M [actor]
7. §H % 20| 97150 WESHH0| Q= a7 |

[spear]
A MR} Oto| §t Chofi= 2ARITIR?

[balance(d&2 &CH]

Review Grammar Test

U2 HOIE DEM2.
1. =W o[ EiXlE LIRELfOZ RIE X|RAELICE
[second]
2. J= X &2 T2(Q] 21 YIRS Mot ¢
off SHASLICE [on]
3. RS2 FoM 0[0F7|E 22 3t H7[SHA]
o OS2 HAE Loikl= $sLch [but]
4. 1= 2= 20 A=0l 7toF gfLch  [go]

EE 2 To|S HIZAH 23 ChS 23 T 2M 12,
1. [Ballet dancers have to work at
controlling their bodies.] &8 £E8+52
=2 H0fot2 1 OfMOF FL|C,
2. [People like him, but | do not.]
AZE2 I8 Z0I6HK|2, L= 2EX| LI
3. [The clothes for children are on the third
floor.] OF=E2 3&0f UY&ELIC
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Self-Portraits

| 22 314 | ik

Mz PIS2 Ao ZElE JBLCE 02 Aizkdol2tr SLch Xfehd2 AREIME 2Y E2E fisLICt,

RO RES Chyet wAloz O 4 QUw, Zh WAL Xpof| cis =7k= Aol tis T2 s 2ol & AY

LIct.

YIS 37} HIME Eh S 377H9| Xtehds DS (Ktekd)ol2tn =2l= 0] 2EF2 36M%AS W

O8 26 31 gL Bt 357 K220l OEAH 2O|LR? RiZal 20K, OfLHE ZFAZ Y HO|LtR?

0j=9f 37t =H S0l I XM= iR CHE 22 A EUch (U Xekholtn 221= o] 2ol
M EL2 XMl 2ZS J2f= Ol0|C|0Z ZHO|U= AlZES ELHD QUSLICH 047(0f Z20| R LIEHL} ALIRL?

| = |
Comprehension Checkup 1.F 2.T 1.b 2.c 3.b 4.b

Vocabulary Focus 1.b 2.a 3.d 4.c
1.photograph 2.painted 3.feeling 4.himself

Grammar Focus  1.himself 2.yourself

Summary drawing / different / self-portraits / look / fun
| Reading Focus | 121p. 1. O{2120| El7e] ZY3E J2IctH, 1 222 Xtst
- HIME 8t TS OfEH ARI0|QILIR? CEEE
o LM 2L o ARI0ULIR? 2. ZMS= MEIRE Ch2 2 4 USLICE
| Vocabulary | 121p. 7R ok ea EpNQ
+ paint 5/ 38s J2|tt 1. 222 Fo0i| 2t 2YLF?
- self-portrait @ X}sHAr a. ZA} 2| wi
* photograph & Al b. XtahAat XRAIO| L7k Aol chah 22d0] Liet
- Dutch @ 422z Lh= A
- calm & xjZel, =8et c. B3PI RS T2l Y
- worried (& AZAZZ, 2¥st=
« triple €352 2. HIME Bt 7S0f 2ef £210| AMRO| OFHLITI? [c]

a. 1= 30H OJAfO| XIstAe aALICH
b. J= HEHEQI0[USLICE

=2 —L

| 2l e Ui | c. (KHeh2 7THUS mel 25 2o
. LICt.
Comprehension Checkup
U= BR2 TE, U o= B2 FE 12N, 3. (M3 KIEH)l el 2O10] ARLRILIF?
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c. (Riskhut 2 s sU
4. M L2 =AASLI [b]

b. 0=9] ol=7IRAELC

c. O|=9] WelRIRAELICt

Vocabulary Focus

=Y

1. AL b, 7fol2t2 01Z510] Bh= ALKl
2. 1YZ I 2. TS ASSH0l I-S 1

C

oo

U2 Kot AZSIM2.

2t
3. Z8%, WS - d. HoHD £83, SR 2=
4. S - c. AL Ex8

[photograph]

2. HFHEO| St HIME Bt nS= U2 XSS
JRELICE [painted]

3. =H 20| T2 XHAMUA H2ES iR C=
LS A oo, [feeling]

4. U2 1Hlo| O2Z 2= O|CAE MOIU=
A7t BRELICE [himself]

A7 CHEAL

ot 2 2ol 07t 2X40i2 CHA| ST W= =5
Of Xf2|ofl i tHEAE ST 2t Q1 tHEARR] Xt
tHZALE Ch3ah 28Uk

= RHH CHEAL
| myself
we ourselves
you yourself(z4) yourselves(24)
he himself
she herself
they themselves
it itself

N
on
>
rlo
bl
r=
o
[
00
rot
0E []
)
)
H
u
4>
9
>
L
o

[yourself]

EEE 517 fll HIZh| L2 TS Z2f MM,

MolRls / d2l= / 2olct / o4 ZHX|Q|
/ Xtekd

A self-portrait is a picture of the artist
drawing it. You can paint yourself in many
different ways. Vincent van Gogh was from
the Netherlands. He painted 37 self-portraits.
In Self-Portrait, how does van Gogh look
to you? American artist Norman Rockwell
shows a fun way of painting oneself in Triple
Self-Portrait.

2 azg J2le sple) JYYULCE ofziEe
D45t 0f2f 71X YAIOR RIS 22 4 gLt ¢

ME gF nsE e £4 |0I91’.=.*L|Ef as 7"*°I
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A
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~
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2

H A EOILHR? ol=2 im i”.j g2 (é.-cs xf
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=lgk1|x-| S}

| 22

F=st2tks 38l of /7t AsHch ax2 a8
2 7125| UFHCE A2 E23to ZX|

ME5H= 1707 0| 27|12 AUYU=r

Still Lifes

MEelE J2/2H sie M o thAlks J2X| Hahof Bhict &

£ 7[et 22 20| ZeEUCH L 217

LICt OffH 2fut 20| SX|7F 25|

SHE 2= AN

|I-I
(=]

ot

Comprehension Checkup

1.d 2.c 3.b 4.a

Vocabulary Focus

=7t S2I01%] &

47| 20| MEsketn 22Lck O

HESIE ole2 BoISISLCL

g=2tl= = 2

1.a 2.b 3.c 4.c

1.included 2.popular 3.painting 4.fruit

Grammar Focus

Summary

| Reading Focus | 127p.

- FE3h= FAWHR?

- =3 2oll= FA0| ALILR?
| Vocabulary | 127p.

- painting & 1&, 3|3}

- still life =2, =3t

- object = 4, 2X|, S

popular 917 Y, CHEP!

- fine art o=

china & xt7|
silverware & 2417|1%
furniture & 7|7
arrange [ H{E5iCt

.

.

44

1. Will the light fall here? 2.Will they come here?

nonmoving / included / popularity / arrange / fall

x|, 2A7IR, 717 &
491, 5Pl 1 CHSEE of R ZAl B
£2717 | ofciol ofUrK? FSalol CIt TUS 7K ofef

[a]

[b]



3. 02 & ol o] =30l SO7HX| 5L [c]
a.
b. 7}
c. Ol0|&

4. ®2812 12 f shi= MY U 2AS ok &
L2 (c]
a. 152 LA HiXI2X| ZFsHoF Lk,
b. 20| ofC|of Bo{RIX| Z&sHoF FLct,

c. Of CHAKS T2IX| ZAsHof BhL|Ch

Vocabulary Focus

1. B 2H - d. 2+ A0+ U= A

2. 12 3lgt---- c. =27t 22 O

3. X7|----b. HEZ HSOTI FA|, & S A
4. 2AU|F----a. 202 MSOT &, 23, 271

1. A2 ZE30| 2K 2&LICE  [included]
2. 3= 17MP7| 02 Q7| EABLICL

[popular]

3. HE=0 aPIE2 FEEE tlez 20 2RE

Lct, [painting]

4. Y2 25| B 1Y M 1P| B2 2AIRE

ZafeiLch [fruit]

Will 2lZ=

Will + 0| + SALEY ~7: ~& QALI?
will2 ~& Zio|ctek= o|n|=, o[2Kol on|E Lt
[ M= ZSARILICE ZSA willo] M1 2XS 0|2

EOZ S M= wills 0 $o2 HINH FLCh

H7\ot 20| 2YS HHY 2N 2,

1. [Will the light fall here?]
1 50| 047|2 HO{X[A K7
2. [Will they come here?]
JS0] 0|z 2 AIR?

EEE 2%a| Hall Lzl ¥H2 HolE 2t P
ML,

27| / zete / EoX|ct / HHX[SHCE
/ SE0IX| =

A still life is a painting with nonmoving
objects. People are not included in still lifes.
Still-life painting has gained popularity since
the 17th century. After deciding what objects
to paint, the artist has to decide how to
arrange the objects and how to let the light
fall.

HE3t= 220|X| o= SHQ| JRYULICH FEsfoll=
Alo| ZE=X| YELCH FEE3h= 7M7) 0|22 2!
7|5 HUSHICEL o thiets JEX| e 2, k=
Tl tHMSS OfEA HiXIEX], 22|11 20| ofEA Hof
XA &X| 2ok Lk,
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Al 3bES M=

¢ ELC 229

A | AAIE B
B210| 3 2XI0IM CHS RXIZ 0S5 520] K|t

52 6 AtO|0]] UELICE 0|2 SAIE X|WX|2t OFR! BAl= E|X| 2 24
ot 7tx|

How to Tell Time

L= HiH
- OoHd

AYLCE oIS S XIF AlZE2 4A| 52 LI

=YLCh 5

YAI2 5:36¢LICt F 7ie] H 2 22021 LT 222 R0 U= A= AIE
REX| U= A= 22 L FUCE 3152 3A[ 1522 20[FLICL

0| A7z 241 302, & 2:30YLICE 3022 & AlZte| ZERILICE T2hA 2:302 2A| BFO[2f = BiLct.

==

Comprehension Checkup

Vocabulary Focus

Grammar Focus

Summary

| Reading Focus | 133p.

| Vocabulary | 133p.
- hand B(A| & %) &
- example @ 0ilA|, 27|
- pass = X|Lict

- dot & H

- colon @ 22

« clock = Al

* half gt Hat

4é

1.F 2.T

1.b 2.a 3.d 4.c
1.hours 2.after

1.a 2.an 3.An

1.b 2.c 3.b 4.c

3.half 4.minutes

after / colon / hours / minutes / half

Ho
=
o
il

]
gl=l
1=

1. 3:3501M SE22| 2Z0f U= A= =2 Lol &
Lict [F]
2. AjZtel Hok2 3022 <lofgct [T]

1. 222 7ol 2t S YU [b]
a. 2O SH0I= YA
b. AR 220| ARZIS 2 F= A
c. AA7H 2Sshe EY

2. ARIO| At 221 3 ALolofl QUS W, IR FXE
o|O|EtLmf? [c]
a. 3AI7} R|staLct
b. 2A] HLICt,
C. 2A|17F X|SX[2HOFA] SAI= EIX| ARUESLICE



3. 5:35= O{EH & 2 JUELITR [b]
a. 358 = 5AZH
b. 5A| 35&2
c. 358 M 5|

4. CH2 & 0= 20| 2A] EFUL7F? [c]
a. 1:30
b. 2:05
c. 2:30

Vocabulary Focus

otak,
=2x

Lk tof

1. EMSICH---- b. X|Lt7ict
2. OA|---- a. O{2{20]| olnj5k= E29] AHE HO
27| Lloll Sgske A

3. F---d XMusaZt EALHH
4. AA ----c. Ho|Lt EfXt ol U=, AZHE Eo

mfu
rlo
)IH

o HZESL

oo
=
[0}

-
FEA

CHS wiziof ot B

ﬁ
b
o

Al AlZE S 28 &2 ) ~ =0

1. 5:3501M 22| R0 U= A= A e &

Lich, [hours]

2. 315 3A| 2 152(3A] 152)2 20[gct
[after]
3. 2:302 2A| Broj2tnt: Sk [half]
4. 3022 5t AlZte| &L}, [minutes]

BHAL a/an

o 8 4 Qi B A ol LI A

4 9l BAe| X X7} 289 [al [el. [, o], [u]2

2 Ui A ol ang ERULICH BAke X 2}
0

H—II_' I"% _+_EI7 f 'é* %ﬂ—?—OHE as 24

1=}
fO

gt ans &BULCE

1. 27H9| H QEEOEH'_ 2Lt [a]

to| LI, [an]

3. 37tz WA ofE ChAE 22| ZsHoF Biict
[An]

ﬂll

EES 29517| 2ol Izl L2 Tl

i
mH
o)
2
10

g get [ ~ 20 / 2/ ALARE/ 2B

A way of writing 35 minutes after 5 is 5:35.
The two dots : are called a colon. The
number to the left of the colon tells the hours.
The number to the right tells the minutes.
Thirty minutes is half an hour, so 2:30 is also

called ‘half past 2.’

5\ & 352(5A| 352)2 XM= ot WHE 5:35¢LIC
20|
K= AE U ELICL REFR = A= 22 Y

2 FUCh 3022 g AlZtel 2Bz, 2:302 24|
grol2tte SLct,
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The Calendar

| 22 sii | 2el

22 Egst ol &, F 122|125 20 F= Ho[X] 2SYLICH 2E2 IS Hoi| Z0f SLIC,

LFU0= 720| USLICE LY, Y 312 +2¢, ER"E', =2%, 121 QY.

2 Holli= 127620] ASLICE 18, 28, 38, 48, 58, 68, 7€, 88, 9%, 10E, 11E, J2|u 12

TE2 P Y A S N M 0L 3E2 U ES M HYE 62 LA S A S NE2EEHS S
of Hm 20|, 1282 U H F ST i FLIC

22| Holl= 3120| USLICE X2 BA| HMERE NESH HW7IX| M+-E LSh= A2 AU 2MI2.

| e |

Comprehension Checkup 1.F 2.F 1.b 2.b 3.c 4.a

Vocabulary Focus 1.b 2.c 3.d 4.a
1.week 2.year 3.third 4.Most

Grammar Focus 1.There are 2.There are 3.Thereis

Summary weeks / days / months / twelfth / order
| Reading Focus | 139p. | 2l e 2 1Y |

- e Dolo17e? Comprehension Checkup

- 94 0] 2 JHEo| ULie?

U= BH2 TE, WXl b= EES FE 1EN
| Vocabulary | 139p. 1. 482 4 @ 5 O B ZlLCk
- calendar €2 2. 2722 26 Hof| SLct,
- set [EME, 23
- show [E|20{ ZC} 7FE YUB2 HE TEM2.
- week @ F

month [ g at
year & of, L] '
hang = ZCt, oi=ct
wall & &

learn =/ HiCt

ordinal number A%

. . . .

o T o W

| 32 XI=Z | 140p.

 Ordinal numbers from 13 to 31
132E 317IX|Q] A%
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O Ct39l g2 FAULNF? [c]
a. 48

4. 29 F, g5 H 22 FALL [a]
_'O__l
=

1. ZC0H----b. Ol 249 M SFZS OE A 2ol
=0ict
2. HE----c. 3i| £3h= HIRE A5 23
3. H - d. Yo|Lt H=2 FH F SILt
4. HiRCt---- a. SEE S XMLt 7|&= &t
LS HIZHof| Y52 BOIS 12MR.

E=Q / E 6l / Mgmel / =

. UFUoll= 70| UBLICE [week]
. ¥ Holl= 127580 QkELCE [year]
| & F M ZRLICk [third]

. TS| Sl 3120] ULIC, [Most]

A ON =2
w
fifo
ro |
mO
-

There is/are ~

There is + £t F
There are + 24 F0{

There is/are ~= ‘~0| QICt'= 2O|LICE There
is CF20l= S HAPL 27 There are CH20jl= 2
= HAPL S

1. YFofl= 70| QUELIC [There are]
2. 2 Hojl= 1270%0] Y&LIC [There are]
3. Ant ol 3t HXI7} QUELICE [There is]

EEE 2%a| 2lall Lzl ¥H2 HolE 2t MR
ML,

gFemel /2 / =M/ &/ ¥

A calendar shows the days, weeks, and
months of a particular year. There are 7 days
in a week. There are 12 months in a year.
January is the first month of the year, and
December is the twelfth month of the year.
Most months have 31 days. You should learn
to say the ordinal numbers from thirteenth to
thirty-first in order.

ox
rok
=Oll=l
o
e
RN
]

£ CINLE= =5 LfEfL”LIEf E

= 70| UELCH Y Holl= 127H20] UEL

% I:I'OlJ—l_, 12°_IO Ql I_=| = 0=|

T S FRLC tRE| Holl= 3120] ASLICL, 01

HEZ2 £MUZ SM| HIRE! MESH HWIIX| M-S
LSh= XS HiRJOF LT
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Review Test

| |

Review Vocabulary Test
1.worried / Z%5k= 2.dot/ X 3.object / 4, 2xl| 4.set/ ME
1.year 2.photograph 3.popular 4.hours

1.pass 2.paint 3.learn 4.wall 5.china 6.example

f@\/acei

Review Grammar Test
1.are 2.himself 3.a 4.come
1. Thirty minutes is half an hour.
2. Will the light fall here?

3. You can paint yourself in many different ways.
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Review Vocabulary Test

hODN =

LA U

e Eloje} 2/ £2

i3

2.

Of|L} EX3H

o1 [worried / ZA%5H=]
A0 =02t AL A [dot / &]
AU W 2 A=A [object / Ui, =A]
5

ot £3h= HIRE AS52 22 [set/ ME]

AL ARE /71 U=/ Eal /AR

2 Hoil= 127120 USLCE [year]

[popular]
. 5:3501M EE29| 2Z0| U= A= AE 2 &
Lich [hours]

U2 EIOIE MN2, O Ok HEM 1 Tol
= 3ot s32t0] SHMIR.

X|LE7 et [pass]
MZS AR8stod J2s T2t [paint]
SEE SallM XIAO|LL 7|22 Hrt [learn]
o|Lt 1= FH & otit [wall]
HEZ OSO{TI HA|L 39 A [china]

Ol21=0] 2jojst= 572 X2 20 F7| 2l o=

[example]

Review Grammar Test

A O N =

. J50| 0|Xe= 2 2717

. € Holl= €5 20| JUFLICE [are]
. M2 37h= XA ZASHE J-ILICE [himself]
. 1ol H 2 S220|2ta FLct [a]

[come]

EE I BES = 1T ChE 22 C 2N,

. [Thirty minutes is half an hour.]

3022 f Alztel AL,

. [Will the light fall here?]

11 50| 0f7|2 HoiX|AH 277

. [You can paint yourself in many different

ways.]

SIS RIS Chlet wAlo T2l 4 Lt
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